1. Jaisalmer was established in - e Match the following -
(A) 13t century (B) 10t century Sect
(C) 11t century (D) 12t century (a) Charandasi sect
| \ :
it 20} o — EC)] glkﬂwésef
(138 Tl § (B) 109 ) @ N‘: “’:'S ‘:
: . wal Sect -
C D
(C) 1141 wrame) (D) 12 wrame) # Main centre/ Headquarters
2. Who among the following is credited to be (i) ']udh -
first to bring camels to Marwar? (i) Bik 2 )
(A) Gogaji (B) Pabuji | a|_1 &
(C) Devnarayan ji (D) Tejaji DR P '-
~ | (iv) Dantara (Bhilwara)
frer A 9 f5Y ARare | wdued S a1 Code -
2y eI omar 82 . A a-(iii), b-(ii), c- [W] d-(i)
(A) TTTSI AB) g (B) a-(i), b-(ii), c-(iii), d-(iv)
(C) TTARTYT Y (D) TrATSI “ (C) a-(iv), b-(i), c-(ii), d-(iii)
3. Which tree/plant is used more for | (D) a-(i), b-(iii), c-(iv), d-(ii)
‘beverages’ in Bhil tribe? _
(A) Grapes (B) Mango ghfera #ifog —
(C) Mahua (D) Khejadi : Ierd
a) TRV
fia St # UG el &g fha g /g Eb; Sy T
&1 3 SYATT fhar S 27 _ ) S
(A) SR CECI e i
L) wgar . (D) WSt
W o PR wE fo (1)
- ‘Sagat Raso’ is written by - 0 o
(A) Narpati Nalha (B) Girdhar Asiya SR i gﬁ
(C) Dalpat Vii (D) Jodhraj i) dIPrR
alpat Vijay J J | | (i) R
W I D AGD ©  (iv) <fasT (iaars)
(A) =RYUf A" \ﬁﬂfiilﬂﬂ CHERI e —
(C) Tofug fasra (D) SR (A) a-(iii), b-(ii), c-(iv), d-(i)
5. In 2021, the Thomas Cup Trophy was lifted (B) a-(i), b-(ii), c-(iii), d-(iv)
- (C) a-(iv), b-(i), c-(ii), d-(iii)
{2} South Korea {E) Japan (D) a-(i), b-(iii), c-(iv), d-(ii)
(C) China (D) Indun251§ 8. Who has been awarded “Water S'—'EWard f
2021 %, oifeRy 9 g & faoran € — | the Year, 2021 award for
A fr PR 48) ST ' conservation? i
(C) e . (D) geRfrr (A) Vivek Bansal (B) Vinod Bhar dwa
5. ‘Mount Popa’ volcano is located in - (C) Ajitabh Sharma (D) Ashok Gupta ]
(A) Japan (B) Italy .
(C) Indonesia (D) Myanmar od WH“TE% ﬁq"{’ qg 2021 G| Eﬁ';_r-q E&T&é
ol =l 3fF & R THR 5 fRar myy 9o
TWW&%%—' (A) fd® 9 ﬁﬁ?ﬂ?%
Wﬁ - (B) geell 7 . (c) siforam wH (D) 312N ey
TSR § (D) =ITHR H
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9.

10.

11.

Phu]dﬂl fair of Shahpurais held in the month

of -
(A) Chaitrd (B) Pausha
(C) yaisakha (D) Kartik

Bhatner fort was built by -
(A) Bhupat (B) Bar Singh
(C) Surat Singh (D) Jaisingh I1

wor fen fo= asamn ar?

(A) Had (B) ax Rig

(€) gxa fE D) STfE 1

what rank did Udaipur from Rajasthan get
in the ranking of 100 cities under Smart City
Mission?
(A) 28
(C)-5th

(B) 10th
(D) 22nd

o el e @ st e @ W

12.

13.

ORI A STAYR BT B Al ¥ Hell?
(A) 28di (B) 1041

Y5 (D) 228
The world’s greatest earthquake belt s -
(A) Mid oceanic Belt |

(B) Circum Atlantic Belt

(C) Mid continental Belt

(D) Circum Pacific Belt

fvq ¥ waifts y@al @1 Ul & —
(A) g HETETRIG HEAl
(B) gRR arectied Hddl

(Chrg wergrdra w8l
(D) gR geria AT

The committee constituted for merger of
Matsya Union in Greater Rajasthan was -

- (A) Dr, Mohan Singh Mehta Committee

(B) Dr. Shankar Rao Dev Committee
C) p, Satyanarayan Rao Committee’
(D) Hiralal Shastri Committee

Wﬂamaﬁ@qwmﬁwmmﬁ
fom nfvg oy S afafe = -

v(A) 3wz fRig AEa Gl
B) 3. yirerra 2@ AT

14.

Arrange the following mountain peaks of

‘Rajasthan in the increasing order of height ~

Gurushikhar, Achalgarh, Kumhhalgﬂfhl

Taragarh

(A) Kumbhalgarh, Taragarh, Achalgarh,

~ Guru Shikhar

(B) Kumbhalgarh, Achalgarh, Taragarh,
Guru Shikhar |

(C) Taragarh, Kumbhalgarh, Achalgarh,
Guru Shikhar

(D) Taragarh, Achalgarh, Kumbhalgarh,

Guru Shikhar

9 H gaRerd Iy —

(A) GRIATTE, TRTTG, AATIG, THRIER
(B) GIenTg, SrehTa, TRITG, TORIER
(C) TRNTS, FHIATG, IS, TORIER

_AP) ARTTG, GG, BTG, TOIIER

15.

16.

‘Rajasthan

Solar Park Development
Company Limited (RSPDCL) is developing
which one of the following solar pr'ujécts?'
(A) Bhadla - Phase 11l (B) Bhadla - Phase II

(C) Bhadla - Phase IV (D) Bhadla - Phase V

IoRAE 9R U faem duel fafacs
fr=fafag § ¥ ST GRS URISET
fyefRid &R Vel &7 .

A Tear — Dot il (B) 9Sall — B9 ]

(€) wear — BV (D) ¥SET — By V
Which of the following types of forests

occupy the largest percentage in India?
(A) Tropical evergreen

* (B) Coniferous

(C) Sub-tropical pine-
(D) Tropical dry deciduous

(B) FIHeEI!

6) wihven FRad e (@)

(D) T Hicdey IPeh. TdS

AT a affa
HO) €rremer et @A

Sy o —
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17. which of the following is called the 21. Mangrove forest are found 1M l,-.;'?
.Khajurahn of Rniasthan'? part of which of the fﬂ“llWillg rivels
(A) Mahanaleshwar temple. Menal (1) Ganges
(B) Sas-Bahu temple, Nagada ~ (1) Godavari
C) Eklingji temple, Udaipur <t (i) Krishna _ "

{ - . L0 (A) Only (i (B) (i), (i) and (it)
(D) Temple of Kiradu, Barmer o) nly (i) g | (iii)
5 (©) (i) and (ii) (D) (1) anc ,
g 9 Rixe NIRRT P Wo *nﬂ’ he] Ol N g 4 Hflﬁ ’
57 y Tl :B Rrrrfafeg & @ fer afen @ Sl
g ~ Yiq & q e
(A) SEFATR "R, N1 - FW’,TT g ST
as Lo S 2 ¥ 1)
(B) Wi—uy HIGY, A1l i
o i (if) MaTaR)
(C) TEHFTHl AIQR, ITUW (i) pu
St ' . <J i Y (i iii)
W) RTIg B AR, ISR > (A) B (i) 481 (i), (i) 71 (

18. |n Rajasthan, inserting a gold nail in the g (C) (i) a2 (ii) (D) (i) 1201 (iii)
middle nft_ceth by a woman is called - 22 Which of the following tribes lives in the Bay
(A) Bhogali (B) Choomp ?:rj of Bengal Islands of India?

(C) Toti (D) Peepal patra ~~ (A) Khasa (B) KuKki
. , | = (C) Juang (D) Jarawa
aawmE & &S sieer gwr i @& dra A
IR @ AT FSIE B FE AAT @ - c ﬁﬁﬁﬁaﬁﬂ?ﬂmﬁmﬁa%ﬂ‘“aﬁ
(A) =T UB) T <t @ B £t A w87
(C) zréi #(D) Gucd U= % (A) T (B) T

19. Which Sufi Saint received the title of E (C) g3 JP) SIRTET/ SR
‘Sultan-i-Tarigin? 23, Which of the following Glacier is located in
(A) Kaji Hamiduddin Nagori :;‘:} the Nubra valley? e
B) Sheikh Hamiduddin Nagori — ‘2’ Baltoro ‘D’ Siachen
(C) Khwaja Moinuddin Chishti ) Datien (9) Hispai
(D) Sheikh Burhan Chishti E:l‘) ﬁt«;{lﬁb{@f i A PR REEE a1 a3
- - L) arafRerd €7
S Ty v @ HATA-U—aRfE @ Sy | ‘

e _,:; bl | r :ﬂ (A) arcei¥] JBTRrmfa

il A O\ (C) are (D) fRRUR

(A) FrF1 efazéa AT an _ .

s P - 28, Who is the present Chairperson of Insurance
Rite BrA AR B IAUA 2 Regulatory and Development Authority of

(C) Zzar= HIZRTA faree Y India?

\B7 7 e faed! (A) Subhash Chandra Khuntia "

20. Firct ecientific classification of Rajasthani (B) Nand Ki:-:h.ur Singh E_i-é
painting was presented by - (C) Ajay Tyagl
(A) Anand Kumar (B) W. G. Archer (D) Shiva Subramanian Raman '

Swami .
(C) Dr. Faiyaz Ali (D) Erik Dickinson qRara 4 meiﬂlflfh AR fAdRy SNBER 3
adara aemer B 8?
ol fog@al w1 waA ggdl dsntid ) 3 e gfean
Tt frga goqa (9417 (B) +¢ e Rig
Y0 s war @ (B) 3% A1 s (C) arerd <l
©) . %urm ot (D) W& f3fwm (D) 2@ YFHITa T
e = ___‘-"_'_'—-——-———
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25. wandur National Park (Mahatma Gandhj

26.

27.

Marine National Park) is located ip -
(A) Andaman and Nicobar Islands
(B) Lakshadweep

(C) Tamil Nadu

(D) Puducherry

o) oraRer & — N
IR fFreEar 2y 3 iy
(B) TeTgy H o E' -
(C) afferrg 7 ' 2wl N
(D) gt E’E A

£

In 2020-21, the sectoral contribution of the—
industries sector in the total Gross State
Value Added (GSVA) of Rajasthan, atv~,
current prices s - ot
(A) 18.6% (B) 21.7% iy
(C) 24.8% (D) 26.49% =
(N
2020-21 ¥, ICRATT S T Gdel g gk ¥l
@ (GSVA) § wafer @l uv Sent 8w
T B A Lo
UBY18.6% (B) 21.7%
(C) 24.8% (D) 26.4% £
Who presided the 7t All India States';?{ll

28.

Peoples’ conference held at Udaipur? )
(A) Mahatma Gandhi (B) K. M. Munshi E;-{;
(C) ]. B. Kriplani (D) Jawahar Lal )

)

Nehru

-

SR # araifera sife s 49 IS
e g @ ATd Y @) ST Dy

- | N
{A) 7T el A (B) ®. ux. I A i*r“:
JES A

(€) 31, §. puerl 7 (D) Sareverd (\‘;

How many cantonments of British soldiersy,
were there in Rajasthan at the time of thug.g;:
beginning of the revolt of 1857? ot
(A) 6 (B) 3
(€) 4 (D) 5

1857 73 spify Tl €N B G e A
N Ayt ) fan orafi of?
vR) 6 (B) 3

(C) 4 (D) 5

29.

30.

31.

‘Veer Bharat Sabha’ was established by-
(A) Vijay Singh Pathik (B) Kesari Singh
Barhath

(C) Sagarmal Gopa (D) Arjunlal Sethi

AR MRA GIT P RTUT 3 ofj—

JA fasia g s (B) dud Rig aReEo
(C) AT 7T (D) a1t el WA
Rajasthan Eco-Tourism Policy was released
in-

(B) December 2020
(D) July 2021

(A) August 2020
(C) April 2021

R gdhi-efen Afa o & 7 —
(A) aprvd 202083 (B) fagm=w 2020

JE) 30a 2021 7 (D) qeng 2021 H

Which one of the following (Research

Institute-Location) is not  correctly

matched?

(A) Central Arid Zone Research Institute -
Jodhpur

(B) National Research Centre on Rapeseed
and Mustard - Sewar

(C) National Research Centre on Seed Spices
- Tijara

(D) National Research Centre
Horticulture - Beechhwal

frafafaa 4 & e @raum s —
JaiRefer) @fera 78 82

(A) BT Y &7 ST AR — TieTgR
(B) MY [T AU By — WeR

(C) T A HATAT EI Do — oy
w0) T IS &F JEHST I B —

for Arid

-32. Whatis called the ‘Mausar’ in the customs of

Rajasthan?

(A) Dinner on the occasion of marriage
(B) Home entrance -

(C) Death-Supper

(D) Dowry

o @ Afd-Raet A TR Ry g
Tl 87

(A) fdae & JqwR W R WS

(B) f&-uavl

JC) HY I

(D) Gevl
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33. Gavriis a folk drama, based on the story of - i Rajasthan contributes atl?srl: tinlﬂ'fl'
(A) Krishna-Kans of total crude oil produ<t 19
‘ (A) 27 to 28 (5 1940
(B) Shiv-Bhasmasur (©) 15 to 16 (D) 22 to 23
(C) Heer-Ranjha 0 ‘ = ) o7 g
(D) Pratap-Akbar WRA ¥ o ded aol (RS W . yfawd
¥ ORI g7 ARIGT ST e
e Uh Albeey €, o mnla & — g |
oo ‘ A () 189 19
(A) OB B H2aT R (A) 2731 28 ) 223 23
JB) RE—3THGR &) Bt W - (C) 15916 ol 5. before
(C) BRI & HAT W %% Which steel plant 7
Independence of India "
(D) UATI—3AHER DI HAT TR (A) Jamshedpur (B) Rourke
34. ‘Saheliyon ki Bari’ was built by - (C) Bhilai (D) Bokaro
A) Udai Singh 11 (B) Pratap Singh Il Ll gga
EC} aalt Sing;ii (D) S::l r:m'S?n h 1l k-Gl - .
jag . : b venfoe faar Tar? i
. ; (m@ (B) Y13l
Fefordl @ arSr & fmiureal o — rHm!
- . . B (C) fiyerrd (D)
yﬁgﬁ ﬁrg . = . : ” 39. Mani Kaul's film ‘Duvidha’ is based on the
(C) orrd e | (D) wam g 11 work of - *
35. Salim Sagar and Suraj Kund water ponds are (A) Yadvendra (B) Vijaydan Detha
located at - Sharma '
i D
(A) Shergarh Fort, Baran © SKS&I;:IY alal (D) Nathmal Joshi
(B) Junagarh Fort, Bikaner |
(C) Bala Quila Fort, Alwar aftr Bra @ e cgfer fFaedr ofd @
: . 44
(D) Jaigarh Fort, Jaipur JenRe & ,
(A) TTgd% I «B) fasraeE 2o
FAW WAR U4 GRS BUS T 9N JHafkerd (C) F=2gT ol |fear (D) el wireh
¥ _ ' 40. The watershed of which district of
(A) ST fpeqr, 9T # g2 Rajasthan is included in the ‘Neeranchal
' * 3 ﬁ Project’?
(B) SmTe g, IR (A) Jodhpur (B) Jaipur
oY aren fber, TR H (C) Udaipur (D) Jhalawar
D) ST &3f, STagR H |
o F 5 ; i o @ f&E Rt &1 dfevdis / srempmor
36. The founder of ']allgar::man o & AR IRIANHT & fafa drar 27
: : was - -
established in 1907 g Py WV IESICLE: (B) SR
(A) Radha Krishna  (B) Arjun La _ (C) SR (D) FrTeTTaTS
Bohra If it was Sunday on 18t December 19
_— : : . 8
(C) Manikya Lal {_ﬂ] Hiralal Shastrl 2 what was the day on 23 December 1984?2'
Verma | (A) Friday (B) Monday
P ** (C) Wednesday (D) Tuesday
. 1907§+; zerTfud afe 18 fRR 1982 &Y fdar o, 23 e
. i o st T a8 | 1984 @1 I AR AT?
(A) RMTHWT qrex’ " (A) IFHAR B GaR
(©) Wiftrquener awi (D) ERTES WA pos (C) G (D) TR
e . [
A% s ? 13 ule
At _---_---‘-__‘—'——
*>106-C o Page 6 of 16

Scanned with CamScanner

Scanned with CamScanner



q statement jg fD“UWEd b

assumpnuns nUltI'let'Ed L, 1Tand 111 Y.Eut]l:ree
0 consider the 5tatganent_and the follq e
ass-umptiuns, decide which ¢ Wing
a55,_]mi:,tiut:rl‘l/'ﬂsmﬂ’lptiuns is/are fimet: .
the statement and choopse- Vo

accordingly:
ant : The book on Vedic maths 1S so

- Prepared that even j; layman

can study it, in the ah
, S
teacher. R

assumption : I Alayman wishes t, stud
Vedic maths without 3 :

teacher.

[ A teacher may not always pe
available to teach Vedic
maths.

[T A layman generally finds it

difficult to learn Vedfc
maths on its own.

(A) Only I and II assumptions are implicit in
the statement. '

(B) Only II and III assumptions are implicit
in the statement.

(C) Only I and IIT assumptions are implicit in
the statement.

(D) AIf assumptions are implicit in the
statement. :

TEl, Uh $Y9 P UTdrd o GaerRong |, 11

aur [l ) 1€ €| TIdh! YA aAT gdrad]

- GduROE B eard # ¥ad g9 Ao aRe '

foh Bell qderoT / QEURONY e § \Hlfed

g a1 Il & AT JOx AT

&Y : dfee Tfora Bl gﬂﬂmwmﬂg
& aegad @ quRefd H O

AT PR APl © |

TRV : | T WIETRYT fad B §01 & 1

42. HE‘rEl

&1 [ | ‘
(111 T AR 2 szll-;rfafé'aiﬁi
qrmﬁmm
ARg=T S
VO et o 10 11 € o A TG
f .
{Biﬁ,ﬁa@w‘ ]Iqalllﬁlzﬁﬁﬂﬂqﬁﬁ
g
| gared

(c}?aqund (Td 111 & B A
|
©) Wi oo aper H R &

@ In a certain code language, ‘GREEN’ is coded .
as 79555 and ‘YELLOW' is coded as 753365
then the code for ‘WHITE’ is - |
(A) 688935 (B) 689205

(C) 58925 (D) 58935
L 2™

fonsft @ W #, %REEN'EHT He 79555 A
YELLOW' &1 ¢ 753365 €, a1 ‘WHITE 1
T~ 5‘ i
(A) 688935 (B) 689205 | Pk
(58925 (D) 58935

44. Vinit said, “This girl is the wife of the
grandson of my mother.” Who is Vinit to the
girl?
(A) Father
(C) Brother-in-law

R ¥ @ar, “ae wea), ¥ AR @ O
H 9T 21 fafa @1 9 el 9 aar Rdn

(B) Father-in-law
(D) Grand father

27
(A) i BT TR
(€) 2o} (D) TTeT

45." In the following figure, the difference
between rectangles (except squares) and
triangles is - '

I

L%

(A) 0 . B 1

(C) 4 - _' (D) 2
ﬁmﬁaﬁarmﬁ(mﬁ%mﬁﬁﬁ)wﬁw
® Heg X B —

g
KL

(A) 0 (B) 1

(C) 4 \/‘572

— EEURE=
106-cc &
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a6. Study the following figure carefully and
answer the l'.]lIESIi{IIL Rectangle represents
Mathematiciany, Circle represent

1<l " 'l ! 5 % .
Geologists. Tyiangle represents Scientists,
Square represents Enginecers.

O\

The Scientist fvho are Geologists also, but
not Engineer o Mathematician -

(A) 7 17
(C) 9 o (D14

O
ﬁT"lf?ﬁ\lTﬁ ﬁ:l-';i_? q‘ﬂ EIITT‘]'CJ:JEH ey 9Uvq &
IR < | Amad afdagi B quiar @) g9
yRsPRE @ qutar 2 Be dfat @
gufen 8| @9 gONfERT & quian &)

Ccr)

5
denfore i Afasn o € oRg SOlFAR SR
TioRTst FE] & -
(A) 7 e (B) 17
U1 9 -t (D) 14
idents, Raiesh is fifth from
47. In a queue of students, Rajesh is _
the left and Manish is sixth from the right.

When they interichange their places among
Raje thirteenth

themselves, .fﬁ;:.sh becomes th

from the left. FHen, position of Manish from

/@ Find the
3

49.

@

missing number - --;-'
? : 5 | 10 ‘
6 |15 2 11 [100] 8 _;,__
4 6 ' | &)
(A) 131 (8) 231
(©) 345 (D) 27
o e s PRI - -
113 e 17 =
' 2 | 10
6 [15] 2 11 |100| 8 9 |
W 4 ‘ L ?
(A) 131 (B) 231
(C) 345 A2 27 s )
A cube is coloured red on one face, green 0

the opposite face, yellow on another face

and blue on a face adjacent to the yellow
face. The other two faces are left.
uncoloured. It is then cut into 125 smaller
cubes of equal size.

How many cubes are uncoloured on all the
faces?
(A) 27
(C) 36

(B) 48
(D) 64

@ BT # TE s P A I H, F™
fudia wae @1 & 91 A, I UF WAE Bl
qral <1 aur @i W1 @ A [ag Dl Al
A1 QN ST ® | a9n 30 < wawl B AN
Bre o9 &1 =9FT 125 Ud O GHIE MHR A
g O+ ¥ il W # |

e Tt @1 Wl |eg av &7

(A) 27 4B) 48

(C) 36 (D) 64

If (-) means (<), (+) means (), (+) means

() and (x) means (+), then which of the
following equation is correct?

A(A) 43 x7+5+4-8=25

Y34 7« 5 Xy=3

the right is - “— 2(B) 36-12x6+3+4=60 oy 25
(A) 5th (B) 16 (C)52+-4+5%x8-2=36
(C) 15t (D) 14" AP 30x4-12+5+3=420 ER A

. ' * (-~ )
vF freneltai o dfad 3 Yot @ 3N Bl afz (-) @1 Wad (£), (+) BT Hlaq [x],-_—[_:_
qragr aur w1 ﬁﬂmﬂwgﬁm.ﬁ 1 7aad (-) AR (x) FT AT (+) R, Y foyg
SN § g7 I ageRd e, a1 IRl At ﬁﬁﬁ?ﬂ?ﬂﬂ?ﬂrﬂﬁﬁ?
3R W Agvar g ol €1 ay 74g @ il AR K(A) 4347 +5X428=25 <
A Rufay & - | (B) 36242 #6+3 x4 =60
(A) 54 (B) 164 v(C) 52% 4 X548 2 =36 MS3y
(©) 154 BT 144 (D) 3045124532420 _

=" g _-_-‘-‘_'__"‘—'-—-—_

B . R (=2 AU~ ¢, a
~— - A f '!I' . Pane R nf 1A ar Ve T o ELu 1
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51. ftanh (X7 iy) = P + iq, then

0 1T

A) M (B) sinh 2y
sin 2X sin2y v
©) M (D) sin2x Lﬁ, .
sin h 2x sinh 2y (V)
e
5 (N
1(x+1Y) =p+i e — )
afe tanh (X +1Y) = p +iq, @ . ¥
(A) sinh 2y (B) sinh 2x E*_
sin 2X sin 2y '
‘/wf sin 2}" {D} sin 2x 'l.:r:_l
sinh 2x sinh 2y T
i
52. |f xeR, then the minimum valye of .
(x2- 6x + 13) is equal to - - t::_‘]
(A) 6 (B) 13 o
(C) 7 (D) 4 S

afe xeR, @ (x2 - 6x + 13) &I —epdai {1,

G

WA & — _ e
L{)

(A) 6 ABr13 ‘v
(C) 7 (D) 4 ol

3. [fthree numbers areintheratio4:5:6 anﬁ_‘j
their L.C.M. is 3600, then H.CF. of these

55.

56.

The cost of 6 pens and 3 pencils is T 84 If
one-third of the cost of one pen js equal to
the cost of one pencil, then what is the total
cost of 4 pens and 5 pencils?

(A) 66 (B) 72
(C) 78 (D) 68

6 U9 e 3 Rl &1 Heu 84X g | afe ¢P
U9 & Hed &1 Uh—(aels, TP R & Ied
@ 9X6] ©, a1 4 9 a5 uRiar o1 | I
T 8°?

(A) 66 JA72

(C) 78 . (D) 68

A fast train takes 3 hours less than a slow
train for a journey of 900 km. If the speed of
the slow train is 10 km/hr less than that of
the fast train, then what is the speed of the
fast train?
(A) 40 km/hr
(C) 60 km/hr

(B) 50 km/hr
(D) 30 km/hr

900 f6A. & a=T 98 FA H TH Aol A
@Y Yo, o 1y @ e B o H
3 HS &1 FAT HH ofdl & | afe € i @
IS B °Ted, ool T DI IATTST Bl °Ted

numbers is - &) gorr 3 10 f&A /9er o4 €, a1 o Tfa
(A) 40 (B) 200 I B TS DI AT a1 872
; = . :
(C) 60 (D) 50 b, B 40 AL /Her  (B) 50 fBA. /e
~ - by (C) 60 fHAL /der (D) 30 fFA. /wer
afe 9 el &1 IuId 4:5:6 & _ﬁﬂ‘_lgi 57. The annual simple interest on some money
bm T FATqas 36008, T 849 'ﬁ@fll&ﬁ; is E of the principle. If the numbers -
7o B w HHTIGE § — :::i representing the rate of interest and the
(A) (B) 200 number of years are equal, then the rate of
10 | % interest is -
" WGD (D) 50 ) (A) 12%% annual (B) 12%% annual
R (C) 8% annual (P) 11-% annual
(A) (B) 1tV s
L-y y ;
(C) 1-y (D) Y ﬁﬁﬁmﬁfﬂwmﬁﬂ?maﬁa@
y e AR AT, e I = 1 AR R uftrer
ufe i . § .ol mlfﬁ X = AT _fTEﬁ- H 9Ha Bl FIEI%LEI HIA qreh o
{A n-..x x + x = B T sasssssssme ﬁ* ?ﬁ_ a:l'l—ﬂ Zﬁ a_\} b ="
) 12 (8) 1-;3« (A) 12 204 aiffw (B) 125% qifte
4
"fCTL;g (D) Ty? \jefﬂ%?-ﬁfﬁtﬁ (D) 11-% affs
—_— L ——— e e e "
103:-:1"‘ Page 9 of 16 FEs !5:.1" [-7—5...: 4 .
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58.

If the length of a rectangle is increased by
20% and the breadth is decreased by 20%,

then the percentage increase or decreases in
the area of the rectangle is -

(A) 4% increase
(B) 4% decrease

(C) Neither increase nor decrease
(D) Cannot be tlt:-turmined

& ST D FarE F 20% gfg ¥ 3R Herd
7 20% T S W anaa D aFwa § on
aret g AT @ @ wfyea & -
(A) 4% 3fg e T

.

B 4% & 1%

(C) 7 & 3R J1 & o/
(D) s <€l B TPy

9. Area bounded by the curve y = 2x - x2 and
thelinex+y=0is-
(A) 1 (8) ¢
6 2
(C) 43 (0) =2
6 3
w}r=23-x3@mﬂmx+)’=0ﬁfﬁi’
&3 BT GG & —
(A) 42 ®) 2
6 ) z
6 6
60.

Two parallel chords of a circle are length of
6 cm and 8 cm. If the distance between them

is 1 ¢cm, then the radius of circle is -

[A) 5cm (B) 7 cm
(C) 6 cm (D) 8 cm

@ gq @ @ TR A 6 WM i
g §& wag @ 8l AR e wH g

| 9, & ar ga @ Bea ¥ -
(B) 7 AL

(D) 8 AH

61.

62,

63.

. len[ RUIE
What was the tenure of last presit

In Rajasthan?

(A) 15 Dec., 1992 - 03" Dec.
(B) 13t March, 1967 - 26t April
(€) 15 Dec, 1998 - 04 Jan.,1999
(D) 30 April, 1977 - 21% Juné 1977

Wmﬁﬁnmﬁwaﬁaﬁam

of)?

\}M/15 fiar. 1992 - 03 Rfay, 1993

(B) 1351d 1967 - 26 314, 1967

®(C) 1 fR3day 1998 - 04 W, 1999

(D) 30 arirer, 1977 - 219, 1977

In which of the zonal council Rajasthan IS
included?

(A) Western region

(B) Eastern region

(C) Southern region

(D) Northern region

Frerfafaa & worem fg &g aRue &

i &7

(A) uf¥esdt &=
(B) g &= iy

et sfardt e %

(D) It &

Choose the wrong pair (State - Number of

assembly members) from the followin
options - =

(A) Gujarat- 182
(B) Assam - 126
(C) Punjab - 150
(D) Bihar - 243

Frafaflad [Aeeat § (qroyg —
@) &) T gy gy —
(A) T[T - 182

V@m— 126

(C) gaird - 150
(D) fdER - 243
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64. Which

2mong tlile following pair (Provision
Article) 15 fhcorrect in

; 7/

Paﬂfha}rﬂ[ Raj* _

) Reservation Of seats - 243 p

@) puration of Panchayats - 243

(C) Elections t0 the Panchayats - 243 A

(D) Cunstitutiﬂﬂ of Finance CnmmiSSi{]n to
review financial position - 243 |

darad TG @ [A M= A B (wrgur
_ yq@e) I Tea &?

(A) T @1 AREV — 243 4

(B) tardl @ A ~ 243

() dargal @ o fatea — 243 @

\)B{ﬁ}'rrﬂﬂ Rafd & gafdeies & fov fam

ATATT B TS — 243 3

65. When was the State Secretariat established

in Rajasthan?
(A) November 1949
(B) April 1950
(C) April 1949
(D) November 1950

@ Match List - I with List - Il and identify the

correct answer from the code given below ~
List -

(a) Maharana Pratap Armed Battalion

(b) Sardar Patel Police University

(c) First All Women Staff Police Station

(d) Mewar Bheel Core
List-11

{i]' Udaipur

(ii) Jaipur

(iii) Jodhpur

(iv) Pratapgarh

Code -

- (A) a-(ii), b-(iii), c-(iv), d-(i)

(B) a-(iii), b-(ii), c-(iv), d-(i)

(C) a-(iv), b-(iii), c-(ii), d-(i)

(D) a-(i), b-(iii), c-(iv), d-(ii)

g —1 & g - 11 ¥ fam $ife IR
My Ry Mg FHE d | Wel IR BT FIT

C :
TR § I Afaarad B ReITal $d §87 d %FTW
(A) Favy 9 et !
A = " Pt (i)= I<UYR
(B) a9& 1950 A (i) .
ST E0d 1949 (iif) Gﬂ‘ﬂ"j’i’
(D) 777z 1950 (iv) gar9iTe
65. In which placé of Rajasthan, there isn’t Fe —
Patwari Training school? Ha-(ii), b-(iii), c-(iv), d-(i)
(A) Kota (B) a-(iii), b-(i1), c-(iv), d-(i)
() Chittorgarh (C) a-(iv), b-(iii), c-(ii), d-(i)
(€) Al il (D) a-(i), b-(iii), c-(iv), d-(ii) *
(D) s 68. In which year-Rajasthan State Commission
T~ for Women was established?
rrdy ¥ (A) 1999 (B) 1998
WHE #§ ol ofTe, Yednd ofer
T ;T A (C) 1996 (D) 1997
"ol B
N B R a3 YroRerey wed Fedl SRR &
®) ferrrg NG 857
1 312ty (551999 (B) 1998
" U (C) 1996 (D) 1997
ST PR
e nea . I 5
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69. Identify the incorrect pair of Panchayati Raj 7. Maximum characters in a €€
institutions intermediary level and related can contain are - g
— (A) 512 (B) 12
(A) Taluka Panchayat - Gujarat (€) 256 e
(B) Kshetra Panchayat - Uttar Pradesh , ' 5 e ¥ o e PRATT
(C) Panchayat Samiti - Madhya Pradesh 9 _3“3 za; ' ”
(D) Mandal Panchayat - Karnataka g}f e . i B) 128
o) 512 1
eI XIS HReIel @ Hewad! Wik gd waferd 7y Br2s6 g tation in
o B Ffegt gm 1 g — gq\?l To open the existing preseﬂ following
(A) ATIST ORI — ORI ?) MS-PowerPoint, which of 1 he
(B) &5 UATIT — SERW_Y &S shortcut key is used?
(e AT ARRY — TR ™ (A) Ctrl + O (B) Crtl + L
Sisher ... (©) Ctrl + N (D) Ctrl +A
| Ag
70. To whom the Sarpanch gives his/her I oy, df) digee # e Hﬁjfﬁﬁmw
resignation letter? % 3 ol frer & 9 @4l grrréasa’ 2 ;
(A) Development officer of Panchayat Samiti g N oy 27 4 . ~
(B) Deputy Sarpanch : OO WK Ctrl + 0 (B) Crtl + L
(C) C.E.O. of Zila Parishad g (€) Ctrl + N (D) Ctrl + A
(D) Pradhan 737 The output quality of a printer is measured
. a by -
[ AT ITTUF fhas! diudr &7 A :
| | ~ %> (A) Dot per sq. inch
\,(A'fwmﬁ afafd & e sifeerd a1 =¥ (B) o h
" | L0 Dot perinc
(B) Su&Ru g (C) Dots printed per unit time
(C) foretr uRRyg & ¥z 3l & (0 All of these ~
(D) gerr %‘)
1. What is output of MS Excel function = LEFT | & & fiie? @1 amseye W vy Ay Stk
(“RAJASTHAN”, 3) & MID (“GANGA”, 2, 2)? = @
(A) RAJAN (B) RA] & A oy N sfe ufd a7 g9
(C) RAJ & AN (D) RAJA -:h_,tﬂfm gl g9
| ” ﬂ‘*"} (C) Ffed SicH ufy g1 wwy
TAUH. Uadel Hae = LEFT (“RAJASTHAN”, & O & 9wl
i " ITICYE ?
3) & MID (“GANGA’, 2,2) P1 LI Eg Choose an invalid pair -
A RAJAN (B) RAJ & A <> (A) C, AT & T's Bell Laboratories
(C) RAJ & AN (D) RAJA - = (B) LISP, MIT
2. Who invented the High Level Language ‘C'? (C) JAVA, IBM . s
(A) Niklaus Wirth (B) Seymour Papert (D) C++, Microsoft "'::'E
(C) Dennis M. Ritchie (P) Donald Knuth '
| IAF T BT T N —
T e ofast C T AR e A (MCAT&T'séﬂéﬂ’l‘%‘;ﬁm
(A) ﬁ-q,—m fror (B) I7R frq-é. (C) mm, an-s‘.eﬁ.qq_
IS . R (D) SHFTeS Y (D) C++, AISHIE G
=
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of the following are true s,

77. Whifhary storage units have f'nt::Enmmﬂ? 79. Which of the following is correct sequence
l:P+r":;.'11‘1d less storage capacity a5 reeess in context of first to fifth generations of
::JHIPE"Ed to S€CO nd'ary stnrﬂge Units, computers?
(| primary stordge units have sequentia] O (A) Transistors, Assembly  language,
access. :’: CRAY-2, IC, ULSI
j1: Secondary SIOTABE units are non-vojayjje o (B) ENIAC, Transistors, CDC-6600, VLSI,
SHITAE™ & PARAM
(A) | and 1l only orh
4111 only ch (C) Vacuum tubes, Java, IBM-7030, VLSI, MSI
an - _
:2: :I and 111 only E’ (D) Machine language, Transistors, ULSI,
| , 11 and 111 JAVA, IBM-701
(D) All (vJa
A A A PR T P 27 O Wﬁumﬂmﬁrmzﬁmﬁ,
}meﬁmﬁm;ﬁf A R e s wE) 82
HERT SR BT URI TGH At qonp - (A) gifsmest, apaeh &9, CRAY-2, IC,
WERYT &TKIT &HH Bl &) el ULSI
J,I,mrfﬁﬂi HERYT SHILY] m;ims A = BTENIAC, ZifSes, CDC-6600, VLSI, 93
Il: frd® Aoy s“ezﬂém i I‘Ith“eﬁa (C) 9e1H 2@, SIrar, IBM-7030, VLSI, MSI
([FA-deeTse) WY Bt | 3, (O 727 ordw,  gifoRed ULSI, JAVA,
(A) @adt | T2 11 ?EE:? IBM-701
(B) @aet | a2 111 80. |n context of network topology, match the
(C) @a& 11 T C"} following -
\_(,DH.II?I%H 1l R Egi (a) Mesh (1) Multipoint connection
78. Consider the following screen parts of 7 (b) Star (2) Bulk Wiring
MS Word 2019 - . (c) Bus (3) Hub
[: Quick Access Toolbar b (A) [a) — J
1 Docarmene Tok gz < . (a) = (2). (b) - (3), (¢) - (1)
I11: File tab on the Ribbon E" v ::‘-5_3 (B) (a) - (2), (b) ~=(1), [C] - (3)
‘ﬁ! Stﬁtus o | - (© (@) - (3). (b) - (2), () - (1)
lich of the above offers the save, undo and C\f D _
repeat options? $5 (D) (a) - (1), (b) - (3). (¢) - (2)
(A) [and |y (B) 11l and IV :
P Tead y . G
© Litand i (D) 1and 11 ~ IR TINEAA B e H, P wT e
. Y —
VAN, 78 HHH-Tew W fER t |
Y ~ 2019% Trt ; (@) ¥ (1) wrifee aaaTE
!:%WW (b) ©R ¢ (2) 7= qrafes
1l Ef;ﬂlﬁe éﬂ ) '.f ( ) ;
1 Ry g se () =@ (3) &9
V: Ry e IR (A) (a) - (2), (b) - (3), (¢) - (1)
oy SR B A W, 3, Refte e B) (2)-(2), (0) - (1), () - (3)
(A) | ﬂm &7 —+e7(a) - (3), (b) - (2), (c) - (1)
© T A(B) 111 @217 | ) (2) - (1), (b) - (3, () - (2
ST \/Wﬂ dar I ' (3). (c) - (2)

T’M\\ '
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81.

Match Column | with Column 11 to form
correct proverbs — :

Column-]
(a) A ]enpard..........._..................
(b) Everycloud.... . ...
(c) Don’t el £
(d) Jack of all trades.......
olumn-

() emvnisininnnn has a silver lining
(1) wncan't change its spots
(iii) wonannn....... master of none
(iv) e Remd eny over spilt milk
(A) a-(ii), b-(i), c-(iv), d-(iii)

X(B) a-(i), b-(ii), c-(1i1), d-(iv)

<C) a-(iv), b-(iii), c-(ii), d-(i)

AT a-(iii), b-(ii), c-(iv), d-(i)
82. Pick up an appropriate option from the

given alternatives to which this sentence
can be a response -

“No, | haven't.” -

(A) Did you complete your homework?

l/(-B‘f Have you completed your homework?

83.

(C) Is your homework completed?
«D) Has you completed your homework?

Select from the given options the sentence

which cnri*ectly transforms the following

Direct speech sentence in reported speech.

Sentence: “Please, could you tell me the
answer?”, he said.

(A) He asked me to tell him the answer.

(B) He asked me please could I tell him the
answer. |

ST He requested if 1 could tell him the

dnswer.

(D) He said that please could I tell him’the

answer.

In active voice the sentence will be read as -
“Many amusing stories are told about Mark
TwHin'n

(A) People are telling many amusing stories
about Mark Twain.

(B) People tell many amusing stories about
Mark Twain.

T People are being told many amusing

85.

86.

«—<) won
88.

89.

90. Choose the correct form of

Fill in the blank with the correct
F{IEEE;l;llELﬂDIL L s JASEANTEE months.
(A) for (B) by

(€) from BT since

Match the following -

(A) Words

(a) Conspicuous

(b) Transparent

(c) Obsolete

(d) Obscure

(B) Antonyms

(i) Opaque

(ii) Clear

(iii) Concealed |

(iv). Contemporary

(A) a-(iv), b-(iii), c-(ii), d-(i)
a-(iii), b-(i), c-(iv), d-(ii)

(C) a-(ii), b-(i), c-(iv), d-(iii)

PTa- (i), b-(ii), c-(iii), d-(iv)
87.

After ten years war, China gave in. (Chgﬂse
the correct meaning of the underlined
phrasal verb)

(A) refrained (B) started afresh

(D) surrendered
Fill in the blank space in the sentence given

below selecting appropriate set of words
from the following options -

............... by long queues and bad weather
the voters ........their way to polling
stations any way they could.

(A) Worried, Lost

BT Satisfied, Turned

(C) Encouraged, Prepared
(D) Undaunted, Made

Choose the correct option that expresse
meaning of the underlined idiom -

They have been at daggers drawn for weeks
over their distribution of ancestra] Property
(A) to live calmly |

(B) to live separately
(C) not on talking terms
&Y be bitterly hostile toward

S the

S €ach other

‘ S
from the given sets of Dptiﬂnﬁ to ﬁ"/]n T}]E
blank space in the sentence - .

“When we got to the theatre

Iready g theplay
stories about Mark Twain, already...............,
(D) Mark Twain tells many amusing stories (A) was/began Mﬁﬂ/bna-gin
.+ ol
106-0 o Page 14 of 16
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91, ‘I GO R S K T el o
(ay R TR w2 sz gy
B I A =1 8y |
(C) I 17y
(o) uenfRerfa A ey
0. r—SPf D GIC A IR faea a7 worm
AR -
(A) I, T — T T
@R, qeul — T vl
(C) TduT, WHR — AT I

(D) ATdTE®, VUTATR — AR
93. i A gfte 1 arjfaa fawen vemfan -
(A) gegad) — Uil [ gels) arell gdd)

ABTMTAR UF — WHIAR & g1 UF

(€) T — a9 & A s
(D) sphyee — qg on i A ulda & war §
9. i ey 3§ <if-RAwde wd T g &7
MRl = ars + &R
(B) AR = X + A
(C) Sirafiysy = iy + JITHTE

{D}@fi}ﬁ:gﬂ.*‘ma |
95 gy ) gfe @ g Rwe @A

i - i
tqb'-:

{A]W-i-‘ij:m_'ﬁﬂ :

{BIW-I-QT_] = M

m"‘*:ﬂﬂi: HRXb

©) e 4 arflg = T\.'ﬂr'ﬁﬂ

o i——— s (— S

B page 15 of 16

96. Uy @ AU U W @ west § ardd
famed qf1g - |
(A) gr—arm g | 9o Ared #59 — g
(B) T faRaTd @ A A & ~ favad
(C) o feh a1 # A T &1 — s

PV Rl AT B AR-UR & e € -
gRe
97. fy=ifaird Tl W fdar dIfig -

fra e @ W 7= UG &7
(A) A, B 3R C
(B) A 3R C
(C) A 3R B
\)Dﬂ/‘ TR frpea Wl &
98. aRTIrel fAEm e —rH BT g BT -
(A) gftad — anfif¥a
(B) 3rrdy — 3fTcIU
(C) 3t — famrer
BT 370 — 3aY
99. 3r{HId BT gD HITaT —
(A) fedr, AT, THTE
(B) wa, AHHE, e
(C) 3R, arrfa, 3w
D) Geft. &1, aTTE)
100. s RET § AR-g T af-I3 FE T
37
(A) Rgu-fRuf - qroR-gaT
(B) IRI—IIR — ugr-ad
~48) R -fgsy - gedRi-TTd
(D) RSTa-Rggy - Sfra—-adt
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